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Subject:  Status coordination (13Y) assignment process algorithm
In the document the flowchart of the algorithm of status coordination assignment process is presented. 

The most difficult case is a station sent for coordination with status “M”. If the station with the changed technical characteristic is not compatible the status “Z” should be assigned but the previous station (with technical parameters used so far) should stay with status “C”. So the ambiguity appears:  two stations with the same Id number (13X) have two different values for 13Y (they also has different technical characteristics). 

The best solution  to avoid this ambiguity is to assign stations (modified and modifying) different coordination reference numbers (13X).  

POL assigns different value for the FF (link order number)component of the field 13X  which can be expressed in the following way:  CCCYYYYPPPPPPPFFRROO

Explanations to the flow charts:

*  - A request with errors is not considered.  

For  File contents code = N  (Header) values  13Y other then B and A are not correct. 

For  File contents code = D  (Header) values  13Y other then R and W are not correct.
**  - If frequency is from  the band allocated to military service status G2.4 is assigned which means:

The  link is not in conflict with the civil applications but the assignment is in the band allocated to the military service. So the station can use the frequency if it does not produce a harmful interference to any military applications. Polish Administration gives conditional agreement with reservation that in case of harmful interference produced in military receivers (which may be recorded after switching on the transmitter) the station should be switched off.  Additionally Polish Administration does not guarantee protection of  the link receiver ”
Because there is not G2.4 on a list of available values (Appendix 9 to Annex 2B)the status G is stored in the data base instead of G2.4.  The value 13Y = G2.4 is put only in the answer file.

***  - Rx stations with status G are protected (what about stations with status E?)
*^  - Tx station may have status G only in case when G is put instead of G.2.4

^  - In order to reduce the time of calculations stations which are out of band can be omitted.

^*  - Some administrations use status E when TD is greater than 1 dB  but not greater than TDa. The value of TDa is agreed by administrations involved. If status E is not used TDa = 1 dB.
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